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QUESTION 1

A Definition of Done contains a number of characteristics of the potentially releasable Increment. Which of the following
characteristics belong in the Definition of Done? 

A. Functional Requirement 

B. Length of the Time-Box 

C. Organizational Processes 

D. Velocity of the Team 

Correct Answer: C 

 

QUESTION 2

During the release planning meeting, it is difficult to agree on priorities. 

Sales want to implement some new features to catch up with the competitors. 

Marketing want to work on a mobile interface that can prove to be a competitive differentiator. 

Customer support want better logging and auditing capabilities to improve maintainability. What should be done to set
the priorities? 

A. Approach Senior Management and ask for priorities. 

B. Survey the existing customers and prioritize according to their views. 

C. The Product Owner will set the priorities. 

Correct Answer: C 

 

QUESTION 3

"Programmers know exactly what others expect from them and can work more productively." Of which Agile practice is
this a benefit? 

A. Bus Factor 

B. Continuous Integration 

C. Pair Programming 

D. Test-Driven Development 

Correct Answer: D 

 



QUESTION 4

Who knows most about the progress towards a business objective or a release? 

A. The Product Owner 

B. The Scrum Master C. The team 

Correct Answer: A 

 

QUESTION 5

During a Sprint Planning session, the team argues about the work estimates for a particular story. 

The Product Owner estimates five days. 

The Lead Architect estimates two days. 

The Scrum Master estimates eight days. 

The team member working on it estimates seven days. 

What value (in days) should be used for planning? 

A. 2 

B. 5 

C. 7 

D. 8 

Correct Answer: C 

 

QUESTION 6

What is a Scrum-of-Scrums? 

A. A meeting for management to get insight into the working of teams. 

B. A meeting for Scrum Masters of international Scrum teams. 

C. A meeting to coordinate the work of multiple Scrum teams. 

D. A meeting to show the customer an update of the product. 

Correct Answer: C 

 

QUESTION 7

Who is responsible for implementing the actions agreed upon by the team during a Retrospective? 



A. The Product Owner 

B. The Scrum Master 

C. The team 

Correct Answer: C 

 

QUESTION 8

Why is the "Time and means or fixed unit" contract type of contract preferred in Scrum? 

A. This contract type is predictive. 

B. This contract type is adaptive. 

C. The contract type defines the scope upfront. 

Correct Answer: B 

 

QUESTION 9

Who is the owner of a Sprint Backlog Item during the Sprint Planning meeting? 

A. The entire team owns all Sprint Backlog Items. 

B. The Product Owner owns all Sprint Backlog Items. 

C. The team member working on the item owns that item. 

Correct Answer: A 

 

QUESTION 10

Why is planning poker an effective estimation technique? 

A. It generates a lot of useful discussion and gets team buy-in. 

B. It results in lower estimates as team members will estimate individually. 

C. It triggers a more detailed and task oriented break-up of the story. 

Correct Answer: A 

 

QUESTION 11

Which Scrum ritual is meant to look back and improve upon the finished Sprint? 

A. Daily Scrum. 



B. Sprint Retrospective. 

C. Sprint Review. 

Correct Answer: B 

 

QUESTION 12

What is a Sprint? 

A. A brainstorming session in Extreme programming to generate design ideas. 

B. A race between two developers to see who can complete a feature fastest. 

C. One iteration in the Scrum methodology. 

D. The last iteration in the Scrum project, when the team works long hours to finish the project. 

Correct Answer: C 
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